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NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A.B.C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A B,C or D given in front of each

question with Marker or pen ink on the answer sheet provided.

2 1
0

IS:

1.1. Order of transpose of

(A) 3-by-2 (B) 2-by-3

2. Every real number is a:

(A) positive integer wd-'l-.;-..g
(C) negative integer mé'd".g

3. Base of natural Logarithm is:

(A) e (B) 1
4. (\/E +\5)(J5 ‘\/E)is equal to:
@A) @ +b’ ®) @ —b’

5. The Factors of a' —4b* are:
@ (a-b),(a+b),(a’ +4b°)
(©) (a—b),(“b)!(az"‘bz)

6. LCMofl5x®, 45Xy and 30xyz is: .

2 1
el O Y e
-4‘-,,»;5’._.)1;;,;’1/& e, 14

(C) 1-by-3 (D) 3-by-1

| e A5 2
(B) rational number ekl
(D) complex number /._;-9{ By

-Q.JVIL,((%@JJ;’ 3

©) 2 (D) 10
_é_,;r,;(\/;-H/g)(\/E"\/E) 4
(€) a-b (D) a+b

- $pnlat -4bt 5
(B) (a2 - ?.bz),(az 4 2b2)
o) (a-2b),(a*+20")
R L)GI.JLJUS{ 30xyz 5 45x) « 15x* 6

(A) 90xyz ®) 90x’yz ) 150z (D) 15x%yz

7 |f the capacity "C" of an elevator is at most 1600 pounds, then: :?x}:igBooulzja_ny"C";rp‘i-iJé..lilﬂJ_dJ.Q 7
(A) C<1600 @ C 21600 ) €<1600 (D) C>1600

8. Point (2,-3) lies in quadrant. e LULSF 2 -3)4 8
(A) I (8) 11 (c) 1 (D) IV

9. Mid-point of the points (2,2)and (0,0)isi P .sﬁ&wr(z,z)»r(o.o)wi 9
(A) (1.1) (8) (1,0) (€ ©1 (D) (-1,-1)

10. In a triangle, there can be only right angle. _g..C‘Cx,,sIJJB‘ ______ .J/‘U:..’:Jf‘uj 10
(A) 1 (B) 2 (€) 3 (D) 4

11. Median of a triangle are: g lng sl s A1
(A) concurrent B (B) equal I (C) congruent S (D) parallel (¥

12. Any point on the bisector of an angle is from its arms.  ~&-Ee—eeee c.uisj'\,‘f.Jlﬂ;;{...iﬂtf.zrsUJr A2
(A) concurrent Lk (B) equal 4l (C) parallel  Ji¥ (D) equdistant el

13. Congurent triangles are: -._}jaﬂu.&jb"‘ A3
(A) different i (B) parallel S (C) similar & (D) concurrent LA

area. -u_*?::‘ﬁ ....... J,’A’;JK/‘IJ"J—‘ 14

14. Congruent figures have

(A) same 44

15. If three altitudes of a triangle are congruent, then the triangle is
(B) equilateral ¢ ustigss (C) isosceles

(A) right angled AN 2AE

(B) congruent J v

(C) different i (D) non-congruent fu’-‘/{
I Y S s BarjurS Bl g 15
r-’;"-"iﬂe

wr.swlj,p" (D) acute angled

4T AQA_ST
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JRoll No._____ it (For all sessions)
. Grou p-I-..a:f . b/
- Mathematics (Science Group) (Essay Type) y ' (@84-1) (-..'.-ru‘:f* L) d‘ ‘l:..
Marks: 60 Time:2:10 Hours & 2:10:=5 60: 7
Section -I 2x18=36 dil.-‘»
2. Write short answers of any six parts from the following. 2x6=12 -u_‘f;fcfyfﬁ/yﬁy!zigaéfc.dufi@s .2
i. Define scalar matrix. : _u_’f_@/‘b(.._/’ii‘):g i
: 4
ii. Find the product of 2l S Y
iii. Define the set of whole numbers. _u_‘f..é/‘U:.gf.:'xU‘r il
iv. Express the following decimal in the form of f where: P-4.€ Z ;,[/S:Lb'u.fgpur “E‘ﬁxd;tﬁ-‘@i@» v
and %0 . 03=0.333....... 03=0.333........ q#0,4P-9€2. 5
v. Define common Logarithm. —%T—é‘/gb(ﬁ?:'(h v
vi. Find the value of Xif: fog 64 =2 :ﬁé}-/(:’“’:.fu( X i
vii. Define Rational Expression. _u_./..ajg/“"(f,.b?&”t Vi
vii. Find the value of (4" +67) i a+b=10;a-b=6 Sikhboni§ (& +67)
ix. Factorize: x:=Tx+12 Mqﬁgzuf“ X

3. Write short answers of any six parts from the following. 2x6=12 -b{/’};&gﬁ/ﬂiflzi.i;&);—bddjc‘uﬁ &

i. Use factorization to find the square roots of: 4x* —12xp +9y* _e_il(’:b’d/ujgdf.::u; i

ii. Define radical equation. _e_{_gﬂj’_-,r,vdxjg i

iii. Solve: 3x-5|=4 &S i

iv. Find the value of 72 and ¢ of the equation2x—y =7 by ALy =mx+cd 2x—y =T zbldnds iv

expressing it in the form V=mx+c é;:l”.y_;\f coimuodli S

v. Define origin. _éf/_é!}J(u?-zsf)lg R

vi. Find the distance between the given points. A(9,2), B(7,2) _z_f-F,lv.ln Liuynﬁmif-fé_: Vi
vii. Find the mid--point between pairs of points. A(6,6) , B(4.-2) -4’-‘:’1”.&73@:@&55&5} Vit
viii. State S.A.S postulate. _@W;ﬁy&f_;_u" Vi

ix. Define parallelogram. _’c_g’._yﬁj(‘,ub}_lrd}l? ix

L Sy GG g S E U iy @ gie IS ST TR
(A) 2 (B) 3 (C) 4 (D) - :

. PR TR Ty
18 In a narallelanram nnpncite analee arg T i A Py s 15
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4- Write short answers of any six parts from the following. 2x6=12 _uf/'://-:.rL'ﬁ/ﬂd:plzl{c.afc_ptd:‘b»
i. Define Bisector of a line segment. ..J/_ﬂﬁJ_zﬂtg_b.ak? :
] ii. 3cm,4cm and 7c¢m are not lengths of the triangle. Give reason. - fub;«u‘._,..ub LJJCJ.»IL..&J"Tcm»McmtScm
; iii. InALMN MNHPQ |fméM Scm ., méP 2.5¢cm. méQ =23cm « miM S5¢m /ic. MNHPQU-LMN A5 i
then find /N . L :’rméQ-2.3cm “m/ZP=2.5cm
, = a ~J_/?'!“" Jw’J msN
™ N iy
iv. State Pythagoras theorem. St it
v. Find x in the given figure. ' x ’: P2cm _u:/pl”xgﬂfd%: :
vi. Define area of a figure. - /’:.»}’ .;;KJ-C
vii. Find the area of given figure. ..L,I/'F':L"._»(Jﬁdifs
e
viii. Constructa A XYZ , in which: mZX = 6.4cm , mYZ = 2.4cm . mLY = 90° LS XYzl
ix. Define concurrent line. Sl SBEA
Section -II (222>
‘ Note: Attempt three questions in all while Q:No.9 is compulsory: 8x3=24 -Ld;us/dlr.éd//utfiéuﬂlrw‘f Oy
5. (@) Solve by using matrix inversion method. dx+y=9 ; -3x-y=-5 ,cz,f:ﬂ.-_:.aJJPLu;.JE ()
i Y V(&
(b) Simplify: 77 Il 77 & (L)
3 (438)’ x~/0.056

6. (a) Use Log table to find the value of

(b) Find the value of x“—y3 if- x—y=4,xy=21

7. (a) Factorize by factor theorem. =25 wx+2

(b) Find H.C.F by division method: x4 x’ -2xt 4 x— 3,5x* +3x*~17x+6

8. (a) Solve and check for extraneous solution, VX +7 +v/x+2 =+/6x+13

(b) Construct AABC , and draw the bisectors of its angles.

equidistant from its points. OR
Prove that triangles on equal bases and of equal altitudes
are equal in area.
218-09-A-

14. In any triangle there can be right angles
(A) 2 (B) 3 (C) 4

9. Prove that any point on the right bisector of a line segment is

i St () 6

)TL{)F')I”&EJXB _ys (I.,d)

S eSS () 7

_é_gliﬁ”(:y;;%rﬁ{;b (l-,v)

HJ_/Ut‘Z J,Héumrz_{wf.; (sl (n-i") | .8

_ngCZ-U{’J{)LJ'):IZ_._QABC&@ (l-,d)

mAB = 3.6cm , mBC =4.2cm , mZB =75°
- - - i - - l/

Hﬂ&u:‘ndh;d’tu’»“:ﬁ izi.xh’dj Jz;'...ﬁ/; é.:.f': 9

L

_;} Ir/fxuf..m:urxl/uwﬁnfz_.xbz_u T J’

_f)"jﬂ" Wfost-fa. U)/h-

"/.:.ci‘
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A d8dize st e W2 g £ E5DaC, B,A;,glz.-ﬁ;tf.&dlmeg{;gK@izﬁ/ﬁ@;gm&guwﬁ:ai
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NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A.B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided.

1.1. The right bisectors of the sides of an acute triangle intersect _ytZ ./ d’i-___)L/».._ﬁ..mu»fa.’.cws&,,u”u 1.4

each other____.
(A) outside the triangle L2t (B) on hypotenuse s
(C) onbase  soub (D) inside the triangle .1 &t
2. One and only one line can be drawn through points. _‘aﬂ:lggfki.gdfu!_i/r_uﬂli _______ 2
(A) one i (B) two (C) three & (D) fout .
3. The set of all the points of cartesian plane enclosed by the triangle is called: -« ruﬁfuﬂxifééﬁgf;?;:(b@fﬁd_iédﬁ" 3
(A) interior of triangle  <s.s1¥al> ‘ (B) exterior of triangle <3 zKak>
(C) congruent triangle &5 1 (D) Right angled triangle &b /146
4. A quadrilateral having each angle equal to 90° is called: _g.dlk’:ngonfﬂiffu)w’;;\.g 4
(A) Parallelogram {usVi$;i7 (B) Rectangle U (C) Trapezium (D) Rhombus 2
2 1 2 1
' 1. I L .
5. Order of transpose of is: . N T - 5
3 2 3 2
(A) 3-by-2 (B) 2-by-3 (€) 1-by-3 (D) 3-by-1
6. In/35 the redicand is: —e %EAa kY35 6
1 1
A) 3 B) - C) 35 D) —
(A) (B) 3 (C) (D) 35
. ‘ . - o . 3 i
7. The logarithm of any number to itself as base is: -q_t:f...«lﬁimx&uw\fﬂﬁim 7
(A) 1 (B) 0 ) -1 (D) 10
8. 4x+3y—2is an algebraic . SR {5/.3.'_? 4x+3y-2 8
(A) expression A% (B) sentence a}" (C) equation =L+ (D) inequation =lsled
2 : 2
9. The factors of X' =5x+6 are: - TIL X ~5x+6 9
(A x=d =4 | X—2,x-3 ©€) x+6,x-1 ©) x+2,x+3
10. HC.Fof a’ —b* and @’ ~b’is: Pk @ =8 sia® ~ b 10
(A) a—b (8) a+b (C) a’+ab+b’ (D) o —ab+b’

11. If the capacity "C" of an elevator is at most 1600 pounds, then _;ﬁiig1soou_u;u_u"c“,m—uJLw,;:,;Jw..g A1

(A) C<1600 B) 0>1600 (c) 0<1600 (D) C>1600

12, 11(x 0)=(0.7), then (%)is equal to: -gziz(x’y)?x(xs 0)=(0,y) /i 12
@) (0.1) @ (10) ) (0,0) o (L1)

13. Distance between the points (1,0) and (0,1)is: e bredobiden (0,1) o (1,0) 465 13
(A) 0 (8) 1 © V2 . (D) 2 )

- " a ~ o R -
1A In anuv triannla thara ran ha rinht annlac IR T P R R B gt = 14
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Marks: 60 Time:2:10 Hours 55 2.10:5M
section -1 2x18=36
2.

i

vi.

vil.

viil.

Vi.
vii.

viil.

X

i, Find 2A, if.

_Find H.C.F of:

Write short answers of any six parts from the following.

i

Define diagonal matrix.

. Define set of integers.

3

Simplify the given radical expression. 5 E?__

_ Find the value of X from the given equation. (0ge,9 =X

5 22
i A=mr, findA where 7 =" andr=15.
Define Surd.
8x’ :
Factorize: 27 y3
ix. Factorize: 25x> +16+40x

Write short answers of any six parts from the following. 2x6=12

39x"y’z , 91X’ y°z'

ii. Define radical equation.

i Solve the given equation: l{ = i::é = %*5-
2 3 6
~ Define ordered pair.
_ Find the value of mand ¢ of the following equations
by expressing it in the form of Y = mx+cC. Ix+3y~1=0

Find the distance petween the points.

State H.S postulate.

_ Find the unknown Xy’ m’and » in the given figure.

A(0,0) , B(0.,-5)

E\,C\D,K\'z,fa]’)n- 3

(N (V) L
607

Jil»

2x6=12 _d)}f'.:,ytzﬁéazfgLJI;‘;:J;@,» 2

gL
Sicke# oA i
-Q/.élﬁ&zz:;wg i

—’cf(ub?lﬂYrbruﬁ -Ei&%ﬁ v
x’;é?'}".:»{’t{f X «_ﬂ.:,bl/fjfd: Y,

o ='2'72—;5|?‘:15 «.C?LZ//(:L”:-EJA?ﬁA =art i i

il

S

_uSsf
AT
_J,,Qf'ags;:ﬁ”&imga.éfa,;ﬁJ,sz-,» 3
g
S fletebii
_a_{,_)’f.—.,bv&fd; i
g ins W
LufLy=mete Seiod3ln ¥
oS cm
,L,:)?‘}"'J#B;;,I_V»Z.LEJ A

viil

Find the mid point of the liné segment by joining the given par of points A(-4,9),B(-4 -3) _z;’_r#’ﬁ&y»m}zfé.: .

-g(dg;!bﬁf.s ;

-V;)?P;WJ no ;) mn= }’0 ‘ xU (!k"‘t\.): y&%’
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4- Write short answers of any six parts from the following. 2x6=12 -L[/¢ /:.I,I.a/‘?&flz £ a.J;"c..u! Jitn -4
. Define bisection of an angle. g S Pl Sl
i. nAABC .m4B= 70° and mZC = 45° . which of the sideofthe »m/sZC = 45° 4 m4LB = 70° SiLABCEL i
triangle is the jongest and which is the shortest. 1% L::{;,.,/L-uﬁs"zc;,_/uf du (5"’ Lody
i Define proportion. A I fEt i
iv. Find the value of X in the given figure. 15em 13em -J’)}'PJI,JJ X c.f&?d: v
B _ — c

v. State converse of pythagoras theorem. ! 42_,?:915..5;;‘ f'a,.i.’w'f N
vi. Define altitude of a triangle. _u_{/_.ég /;"J Llixi.f._uf' Vi
vii. Find the area of given figure. - _u:)?}”.};h’ff G vii
viii. Define circumcentre of a triangle. - -q/...gﬁ&;’}wv&:ﬁ il

i, Construct a AABC s in w’[uch mAB = SCm " mA (_.Y = 3.26‘”‘! . mAA = 450 _Juﬂi_,t{ AB(" ,f,f:‘ X

Section -1I r»,.b

Note: Attempt three questions in all while Q:No.9 is compulsory: 8x3=24 -<-JiV9 /.;Jlr,?;,{ &faylﬂﬁ.aﬂiruf‘f 2
5. (a) Solve the given system of linear equations by Cramer's rule. Z.u?!su?ndgf!;uo/uiﬁﬁ /:f N 5
- A6 Tox-2y=-10 - S SV o X 2P

(216)?25 x(25)2 )
(b) Simplify: (0.08) " g (D)
6. (a) Use Log table to find the value of: 0.8176x13.64 J:_{’)”-‘-«Ea- :AJJ,-A;;‘B;E’J () 6
(b) Find the value of X =y x-y=4,X= 21 :)ﬁlJ_/(,ﬁ"’:f":J X -y ()
7. (a) Factorize! g + 60x° +150x+125 _EsF (I T
' x+3 1 4x .
(b) Simplify: T E 0540 + -2—('2-;‘3‘) “Ae 9 _a;;{ﬂ’ ()
1 1) 2 5 1!
8. (a) Solve: 5(’5 "g)* i ‘3;(5 - 39‘) NISACDR:
(b) Construct APQR , Draw its altitudes. m}’_Q- =b6cm, m@—ﬁ =4.5¢cm ,m"f’_ﬁ =5.5¢m -é—f’bu?ﬁ/tz APOR (..,)
9. Prove that the right bisectors of the sides of a splfd- ﬂﬁﬁytdsfécum&ﬁ(f:f a_é/_-f.e 9
triangle are concurrent OR v
Prove that triangles on the same base and of the A L@;i‘ﬁubsiuﬂé'»gwﬁ'&_ﬁz U oi!,,fa_,{.:f.e
same(i.e equal) altituded are equal in area -Juﬁﬂ.{uﬁ."-/wu.ﬁ

220-09-A-
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